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). this leads to different sterilizati
placed orders

Unit Profit

Department 1

Department 2

Department 3

Department 4

Sterilized

$80

$70

$60

$90

parts

$60

$70

400

$50

$100

1000
600

500

200

500
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the sensitivity analysis procedure to revise the set of equations (in a table:
d the optimal solution when the coefficient of x; is changed to be:




o

@ z‘_}—‘ Nhm ﬂf Mnlbs Pfﬂd%‘ ! alh @
Soid tar (RSN

© Ma %
4 G
N o<
j=l =1
@ Snb to
<
S = QR
)=\ REQ}S
+ =
i/’éj = Qounbi A
1=\
25§20 Vi)
Dasic L8 4 '
Variables < k ) I
are [24] Ce- [54)
Z2
= [rayl 5 =[\o
@ [1 \ [%
Shadew PR (3= [ _X aek= 3 Ll%"\"ﬁl\l
%P vl Rusng obﬁ?_, (5\ \ o 23

1 Y+ R Vf”‘x
Z\ Zf Z 2 % ‘Vg_\—) b

WLF-W \ 2_,/,5 "'"‘/% [ d\- /5 ,6{’5

9 \
: ‘/0’) 8 %&7- Igs “/3 e/
2'/ % JV?’\ ‘ZD A kg E g *“%\K\ﬂ\

\ 2/ 2
- \/’5 2 ¥ __,\, K” 'Z,/ 5
&y T 2"\ ¢"f’ﬁr ?’D/ 5

{2 Lo










A 4

Question 7: Conside
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g undirected network, Find the minimum spanning tree.
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@ | undirected network. Find the shortest path from node § X
o node H.
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